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Refer to the exhibit. A collaboration engineer is troubleshooting an issue where the PSTN calls of a Cisco UCM IP
phone user are not reaching the PSTN gateway. Which action resolves the issue? 

A. Change the calling search space of the user\\'s line or device. 

B. Change the “Call Classification” to “OnNet” on the route pattern. 

C. Ensure that the user\\'s phone is assigned to a device pool with the correct local route settings. 

D. Deselect “Block this pattern” on the route pattern. 

Correct Answer: D 

 

 

QUESTION 2

An administrator is troubleshooting a one-way audio issue for a call that uses H.323 protocol in slow-start mode. The
administrator requests that the IP and port information of the Real-Time Transport Protocol traffic that had the one-way
audio call is provided. The H.225 and H.245 messages for one of the one-way audio calls are gathered and the call flow
has not invoked any media resources. Where is the RTP IP and port information for both sides found? 

A. H.245 Terminal Capability Set 

B. H.245 Open Logical Channel 

C. H.225 Connect 

D. H.245 Open Logical Channel Ack 

Correct Answer: D 

Reference: http://ccievoicehopeful.blogspot.com/2012/09/h323-notes.html 

 

QUESTION 3

An administrator is configuring a SIP trunk to an ITSP. The SIP connection will traverse from a Cisco UCM to the ISTP
through a Cisco Unified Border Element. The ITSP has indicated that they require an in-band method for DTMF. Which
command on the outbound dial-peer to the ITSP will meet this requirement? 

A. router (config-dial-peer) dtmf-relay sip-notify 

B. router (config-dial-peer) dtmf-relay sip-kpml 

C. router (config-dial-peer) dtmf-relay h245-alphanumeric 

D. router (config-dial-peer) dtmf-relay rtp-nte 

Correct Answer: D 
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QUESTION 4

When an administrator troubleshoots H.323 call setup, which message gives an alert that the called party is being
notified about the call? 

A. ALERTING 

B. PROCEEDING 

C. CONNECT 

D. RINGING 

Correct Answer: A 

 

 

QUESTION 5

An engineer is configuring a Cisco UCM solution. The requirements state that some users in one location will receive
calls from a number during work hours 09AM to 5PM, and another group will get the calls from the same number
outside this defined timeslot. Users will also change the outgoing number when reaching out to customers based on the
same time-of-day routing rules. Which feature is needed to allow for this type of configuration? 

A. partitions 

B. CSS 

C. route groups 

D. route lists 

Correct Answer: B 
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